T 27~30 FEHEHRSHL (9) P21~ 0FEIEEH (9)

e S v
g Z LY 8% 9
SHEICT v W (9) . N -
i L & A i 7 DVEORLABORICES LS, AOX0[ Kb THESREBEE L L, e
(2/5%50) PYE 7= Linh D -
LoERELELE. L 27+4=6H% 3 } — £4><’ I EEE ”
(1) 253 (2) 428 (3) 264 (4) 4216
+ 36 + 145 + 156 + 2685 8 HEELELLD,
289 573 420 6901 (1) 8=+3= 2hEV 2 (2) 17+2= 8hEV 1
(5) 768 (6) 642 (7) 935 (8) 1000 (3) 43+6= THED 1 (4) 39+4= 9bEY 3
— 34 — 157 — 628 — 6 4
734 485 307 936 (5) 22+7= 3HFED 1 (6) 54+8= 6HFV 6
o HEAELELLS (7) 53+9= 5H%0 8 (8) 37+5= THED 2
(1) ox5 = 0 (2) 6 X7=1| 42 (3) 0X0= 0 (9) 13+3= 4HFE0 1 (10 8+6= 1HEY 2
(1) 43+5= 8HED 3 (12) 8 8+9= 9bEN T
3 [ |escEsssamEELes.
(1) 5X7=5X8— 5 (2) 7X10=7X9+ 7 9 FToMZOWTEZXELL D,
19467325 (1) WhIEALEDRFE, O —
3) 6 X 8 =8 X| 6 4) 4x9=4X
4 (2) Zo¥TEHAT, WrTHEEXELEL Y, ’ TRENHAFET=E 4% ‘
T .
a [ Jeocugssasasieo, 10 FEeEEEL LT,
(1) MEEIATEEF— ’ 4706152 ‘
(13X 6 =18 (2)) 9 |X7=63 (3)4X T|=28 (2) 1000F%32, 100H&12, 107 ’ 31760000 ‘

72, 17%6 bbbtk
5 FHEAZLELEO,

n [ Jescrzsgemssies.

(1) 8+2= 4 (2)54+9= 6 (3)30+6= o (1) 1000%1 3 b3 ’ 13000 ‘
(2) 625000(%, 1000% ZHOOITT,
(4) 9+9= 1 (5)36 +4= 9 (6)6 4+8= 8

(3) o
\

6 HUEOEZAELVOREE ST, ELVESICOESTEL E 5, \ |
12 HEHEEELLD,
(O) 38+-6=6HF0 2 ( ) 65+-7=8HFEN9 (1) 37%10fB L7 (2) 60%100f%L7-% (3) 800% 10 Th-ol¥k

(1) (2)
( ) 38+-6=5HEVS (Q) 65+-7=9HFV 2 6000 80

&




